
                  

                   

                   
  

             

   

  𝑓(𝑛) = 𝑓(𝑛 − 1) + 𝑑
𝑎  =  𝑎 + 𝑑

𝑓(𝑛)  =  𝑟 × 𝑓(𝑛 –  1)
𝑎 = 𝑟 × 𝑎

  𝑓(𝑛)  =  𝑓(1) + 𝑑(𝑛 − 1)
𝑎  =  𝑎  +  𝑑(𝑛 –  1)

𝑓(𝑛) = 𝑓(1) × 𝑟

𝑎 = 𝑎 × 𝑟

          
 1, 2, 3, 4, 5, 6… 2, 6, 18, 54…  7, 23, 19, 15…
 2, 4, 10, 16…   20, 40… 100, 1000, 10000…

 

 
 

 
  


    

 

 
 

 
  


    

      


